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5| 14 39 5| 14 39
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3| 3 =5 YN 2 2| 6| 14 31 6| 5 31
4| 4 MR 8 7 32 4| 7 32
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No. &l =|EB|X 3 28 3 28
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2| 2 LA 5 30 5 30
3| 3 HZHEKT 1 6 31 1| 6 31
4| 4 BINEF 12 7 32 7 32
5| 5 EHXE 4 1| 8 33 6| 8 33
6| 6 MEkEEY 8 9 34 9 34
7] 7 BHEE 1110 35 4] 10 35
8| 8 NN 2 11 36 11 36
9| 9 FLS 4112 37 4] 12 37
10| 10 CREE 13 38 13 38
8| 14 39 5| 14 39
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No. E21] B[ % 6| 16 4 1] 16 41
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1| 2 O fE 6] 20 45 5| 20 45
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3| 4 =L Fx 1 22 47 22 47
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No &l =|EB|X 3 28 3 28
1| 1 IKFE X 2| 4| 16 29 2| 4] 16 29
2| 2 EERR 19 5 30 5 30
3| 3 hEFI5 8 2| 6 | 22 31 8l 6| 7 31
4| 4 EMmRAEH 4 7 32 7 32
5| 5 REEEHR 2 4] 8 | 22 33 6| 8| 16 33
6| 6 R EFRER 12 9 34 9 34
7| 7 NI 2| 10| 16 35 6| 10 35
8| 8 hIREA 4 11 36 11 36
9 6| 12| 15 37 2| 12 37
10 13 38 13 38
3| 14| 16 39 8| 14 39
F—.\B MJHS5T | 15 40 15 40
No. E21] B[ % 6| 16| 16 4 6| 16 41
&= A BB GHE 17 42 17 42
8B 3[ 18] 10 43 3| 18 43
No. 2] m|E|x 19| 16 44 19 44
1] 22 R =M 6 20 45 3| 20 45
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3|15 =V NN 2 22 47 5| 22 47
4 | 21 BmLE B 23 48 2| 23 48
5| 10 AT R%& 2 24 49 24 49
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No &l =|EB|X 3| 9 28 3| 3 28
1| 1 TR KRB 4 6| 4 29 4 29
2| 2 I0 #%F 5| 14 30 5 3 30
3| 3 /KR IESS 8 4| 6 31 6 31
41 4 RIS EE 4 71 9 32 7| 14 32
5| 5 B2 TE 5 3| 8 33 8 33
6| 6] AR =TEZF 2 9 | 14 34 9 34
7] 7 BK BE 3| 10 35 10 35
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9] 9 =2 EM 5 9] 12 37 12 37
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F—L\B| #LIREHE S 4 | 15 40 15 40
No. E21] B[ % 16 4 1] 16 41
= A AR DE 17 42 17 42
BB HER 18 43 3| 18 43
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